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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2022

Subject Name: Building Services

Subject Code:2TE06BGS1 Branch: Diploma (Civil)

Semester: 6 Date: 04/05/2022 Time: 02:30 To 05:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

b)

d)

Attempt the following questions (14)
Which is the smallest increment of sound pressure level detectable by the human 1)
ear?

Hiolel slot gLl 0L 2lslal Aall el EnlRloll ARHL Alell ollell AtlR $20 B?

A) 1W/M2 B) 1decibel C) 1Bel D) 60 Bel

Which is correct about ventilation? 1)
A) All house bathrooms and toilet rooms must have open able windows to outside

B) Natural ventilation only provides for air to leave the building

C) All toilet rooms must have natural ventilation openings to outside air

D) Allair leaving a building is replaced by the same quantity of incoming air from
outside

AlzA2et (A 53] U B?

A) dRell dHIH stz wal ABA 3HHL wslRUl vl widl aldl A

B) 562l AlAt HIA scllal HUslatHidll olslR ollsnal HI2 YElst 52 B

C) vl gl 3HHL olelRell sall M2 sl AlRAot Ve 8lg ulaus &
D) sHRAMIA ollsaicl drid sal wslRel wlatddl scllotl UMLet g2l GlRL

WEACHL WA B

Which Gas is generally used in fire extinguishers? 1)
A) Carbon dioxide B) oxygen C) helium D) methane

AHLeRL A WUEAAHS AUAHL 52 A AUR(RL B?

A) stolet sllsues B) A sxeet C) (cllan D) Aot

Efficiency of a lamp means? 1)
A) Efficiency at converting color temperature into luminance on the working plane

B ) Percentage of lamp globe or tube surface area that emits light

C) Proportion of lamp light output directed toward the working plane

D) Lumens light output per watt of electrical input power to lamp

elatell stletal Aed?
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f)

9)
h)

)

K)

A) a5 Wot UR VLol dlUHlolal @jMototHl 3UldRd scllell stalatdl
B) A1y ol wecll ol AULEl (QrcllRell estaldl & ysiale] Gilet 52 &
C) sl $cll WQot dRs RERA A cllse wBaYyaa] YHIaL
D) €lal 12 (Qgd 8eiye UlcRell dl2 €ls AU clge wBay2
Energy = Gl =
A) PXA Db) Pxc C)PxT D) PxlI
Light falling onto the surface in a room:
A) Some is absorbed and some reflected B) Is all absorbed
C) Isall reflected D) Bounces off at same angle as it arrives

ARSI AUl UR usdl yslal:
A) 3ecls M B wal declls UldClld aa ® B) oy A &

C) oy ylQlld s & D) A A & A % Rl U cllGa Ul B

1HP=

0537 KW B) 0.375 KW C) 0.735KW D) 0.435 KW

Sound travels through air in the form of:

A)Straight lines B)Electromagnetic radiation C)Wave D) Sinusoidal alternating
frequency

tellol scll iRl Aloll AIUHL Yl 53 8:
A) (el 2wl B) 8Qs21N0a(25 2A3A2et C) Aa D) RofAssct ds(@s uladst

Which of these has the correct electrical units?
wHiel sal (Qgct A5 AU B?

A) 1MW=103W B) 103 KJ =103 KWI/S

C) 1Watt=1voltx 1ampere D) 103W = 103V X 103A
Which is the basic need of human comfort?

A) Being comfortably warm B ) Quiet indoor environment

C) Constant core body temperature D) Avoidance of draughts

Hiotcl ARMHe{l Yool 3RAUA 58 B?
A) ARH 2RM 8lg B) 2l 8e81R dldlaR0l

C) 23Rq] Ucld dluHlel D) sls2d g

How is plant protected by an MCB?

A) MCB means manual circuit breaker switch at a distribution board

B ) MCB means molded case breaker cartridge fuse for each plant circuit at main
switchboard

C) Miniature circuit breaker switch opens on detecting excess current

D) Itisathermal overload switch

MCB g1l clloe 3cl 3l yrad d?

A) MCB :2a (AdRul oll§ uR Aoyud UlSe s {lu

B) MCB 2@ yual [|Al§ UR €38 1ellod (52 M2 HIAS 3U Qs SR 43
C) (A2 yeas Aual U2 dyRA ulEe As U wa B

D) A eic ARl U B

Which Is a reason for ventilating buildings?
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n)

A) Supply of outdoor air quantity to support life B) Remove indoor dust
C) Removing tobacco smoke and cleaning fluid odors D ) Control indoor humidity

SHIRAA &clloll AR M2 53 SR0L B?

A) % clolal 28 AUl HI2 WlRell scllotl eallall Yasl B) vig{l ya g2 s
C) cuigoll YuIsl g2 sl Aol yalgloll ol s scll D) eRell vigo(l Ayal
BEIEREEE

What opposes flow of electrical current into an electric motor 1)
A) Resistance of the motor coils

B ) Temperature coefficient of resistance increases circuit electrical resistance

C) Inductance

D) Mechanical feed-back from forces on motor output shaft

B8AEs HeHl ([Agd yalsetll Yalsel 9 QAU 53 B
A) H2R sl8call yldsiR
B) uldsire] diuMlet dalis UlBzell [Agd yldsiRal auR &

C) doS52ad
D) H2R AUBaye Wse Uil 0l sl ailBls gls-As
Hearing range is:  aietcle(l ARl &: 1)

A) 20Hzto20kHz B) 2Hzto20MHz C) 200 Hzto 200 MHz D) 2 kHz
to 20 MHz

Attempt any four questions from Q-2 to Q-8

Q-2

Q-4

Q-5

A)

B)

A)

B)

A)

B)

A)
B)

Attempt all questions (14)
List and write about bathroom accessories and fitting. (7
ol a3 AAUIN wal (3oL (A YR el ua vl

What are the general requirement of fire resisting building as per NBC-2005 . @)

NBC-2005 40l w9l YlAAus sHRdo{l UMl w3RauA 9 8.

Attempt all questions (14)
Define ventilation and its functional requirement of ventilation system. @)
AlRA2e U Aol AAUA Rr2HoAl sl2llcHs MlaARASARAA cauvARl 53

Explain the application of services for different types of building. @)
@l ystrell s Hizoll ActAledl 3R UMl

Attempt all questions (14)
Explain the principle or requirement of good lightning. (7)
AR lsoflell Rgic aa s3Raud Al

Give comparison between reciprocating pump and centrifugal pump. @)

URAUES UU AR Joacldll YU o ARuitHe(l 4l

Attempt all questions (14)

Explain storage of water. Wlell 2{oLs uMestal. (7)

Explain fire resisting properties of common building material. @)
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Q-7

Q-8

A)
B)

A)

B)

A)

B)

AU Hslot AHlotl oL YlQAUs opLudl umesal.

Attempt all questions

Explain various plumbing system (At 1c(6iol Red Al

What are the important construction aspects of lift?
[@Ageoll tlitusiHoll Heccloll URARAL 9 B?

Attempt all questions

Design a storage tank for drinking water foe the following data:
Number of member in the family =5

Roof top area = 100 m2

Average annual rainfall = 600 m2

Run off coefficient = 0.85

Co-efficient of evaporation = 0.80

Daily drinking and cooking requirement = 10 liter/second

o1 Astl 32tal Yletott wiellett 27 M2 oLe 2isl 3steset s
URcurul uedle(l iva = 5

89ctoll 2l Al (ArcllR = 100 m2

ARRAA s cUE = 600 M2

ol Alls dJulls = 0.85

arsdletcloto] ue-stiet = 0.80

tlas Ylaoll Aol 2A0S{l @3R2uct = 10 (A2 /A505
Explain the types of valve. cllccloll UsLRL AHstcl.

Attempt all questions

Explain the component of roof top rain water harvesting system.

9ol 2Rl el Wl e Usldetl vesal UMl
List the component of lift and explain any two.
([Aseall Uesoll 2EL olotlcl Aol SlESURL A UM,
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